Hermonie’s Dilemma

Hermonie has baby-sat all summer long for Johnny.  She has earned $125 for her efforts.  With the start of the school year, she wants to go shopping for some new school clothes.  After spending some time at Old Shnavy Magic Clothing Store she narrows down her items to the following things:

A super cute pair of boot cut jeans……………………………………..$35.00

A pair of flip flops……………………………………………………$6.50

A printed t-shirt………………………………………………………..$12.99

A blue purse……………………………………………………………$15.99

A yellow sundress……………………………………………………$28.50

A necklace……………………………………………………………$5.99

A canvas jacket……………………………………………………….$32.00

1.  Can she buy all of these things (show your work here)?

2.  What if she had a coupon for $10.99 off of her entire purchase.  Could she buy all of them now?  Why or why not? (Show your work with the computer spreadsheet Hermione_Shppoing.xls)

3.  Oh wait!  Hermione just saw the fine print on the coupon. The coupon could be used for $10.99 off the entire purchase along with half off the lowest price item.  Could she buy all of them now?  Use your Hermione_Shopping.xls spreadsheet to show how this cost is different from that with just the coupon as in #2.  

